Algebra 2 / Trig Name

Practice Problems for 11.4, 11.5

1.

2.

3.

A card is drawn from a normal 52 card decladFi G) @ \b) 52— ) 5

a. P(the card is a five or a six)
b. P(the card is between five and ten)

You throw a pair of dice — one red, the otHack a) 33 Q 3y - E C) {:31‘_6 I
3%

a. P(the sum is at least three) 30
b. P(the sum is between three and eleven, inclusive)
c. P(the red die is a three or the black die is a)four

There are three roads from town A to town B fmudl roads from town B to town C. There are fine

routes from A to C. How many different routes drere from A to C? 34 =2 24 S

4.

gPu

5.

b. In how many ways could you pick a consonant or\aeld 3¢S ©
c. In how many ways could you select a vowel and g@sther vowel? 3-2°
«d. How many different four-letter “words” could you keusing no letter more than oncg?27-¢-§ 4}

e. How many different four-letter “words” could you kReawith repetition.of the letters allowed? 00-

How many 9-letter “words” can be formed frore thtters in the word M? (Curigusly, on

Using the letters in the word COMPUTER <
a. In how many ways could you pick a vowel and theorsonant? 3 - 5' l

such arrangement spells tics. Can you name ity _ ’) ;r 2. 856
( ALGOR ITHM | é’ = 302,856|
6. How many different “ n be formed usalof the letters in PROBABILITY’P

i o =(3,179, 2]

7.
n |

8. nC2 = f) /.’ ' ~

n - z) . 2 ] o
9. How many ways can 8 pedpie sit around a tablcg So4
10. If six people compete for a medal at the Olymmow many ways can three people be chosennohsi
gold, silver and bronze medals? P 10
11. How many bridge hands (13 cards) can be forfinoed a 52 card deck? s,, |3

12.
cafeteria director about food. How many differeammittees can be formed? C =((s20

13.
pairs are possible. .{ .3 =

14.

15.
letter or digits repeat? 'O G 2285 € 1 b=

Four students are selected from a home ecasatass of 16 students to form a committee tosadiie

o™y
There are four candidates for homecoming gaedrthree candidates for king. How many king-quee

T _ oo )
How many 9-digit social security numbers &ere? o = »© 6e, 0 =)

How many different license plates begin witle digits, followed by two letters and then thregits if no

= (q (,S(.)ooi]




16. There are 3 red pens and 5 bIack pens oretle df 4 are selected at random, what is theghibiby that:

a. exactly 1 penis red
SERGIB RSN
- . C

b. all of the pens are black
C.
B

2 Y

17. An ordinary deck of playing cards is usedlay@ game in whrch you are dealt a 7 card handd lFre
probability that:

a. you have exactly three red cards and four blaodisc b 5 2 "' . 290SY---
b. you have the ace of hea
c. you have all spades @ .C '5‘ S‘&C

<, B ")"C"‘qco'
Nt -
18. A well-known hamburger chain hasi} chorceﬂ;ermﬁs épel-eﬁ-(-be«-burgers How mﬁﬁyﬁf@ent

burgers could be created by using: ‘ O

a. three of the toppings or srx of the tOﬁTQ’ nc} + C

b. all of the toppings? . &
c. zero to all of the topprngs’?

19. On your spring break camplng trrp t paf you breaking your arm is .07 and the probgbof
spraining your ankle is .12. What is the prob@btlnat you will:

a not break an arm nor sprain an ankle? SPQQ) (. 73) =/ SvY
d an

C sta okena ()rar oﬂ(\‘l) > '8“0
20. Ace

rtain part as a p obabrllty of 95 hatill Work What is the probabrlrty 0 k
all at the same time? 100
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21. A short multiplechoice test has 5 questidBach questions has 4 choices, exactly one of whidight.
Assume that you are not experienced in the sulgegtpu guess randomly to choose the answers.

b) = LOOS‘i )..bS'/

a. What is the probability of guessing any one ansvgit? Wrong?
b. Calculate the probability of guessing 0,1,2,4, @nSwers correct.
c. You will pass the test is you get 4 answers rightat is the probability of passing?

22. When Ms. Elaine Eous left for college, her maffered to reward her with further scholarship rerynfor
her grades. She agreed to pay $1000 is Elainesegcall A’s or $100 for each A that she makes. eWklgi
arrived at her school, she chose classes in whiehhought she could make A’s. She estlmates h

probabilities of making A’s to be English-0.95; Gow-0.91; Spanish-0.99;PE-0.82 6

a. Calculate her mathematical expectation is she s $100 per A
b. Calculate her probability of making all A’s
c
d

. Calculate her mathematical expectation if she cb®&4000 for making all A’s
. Which offer should Elaine choose?
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